1.

Vx <3 Adsx x =2 JA7E?

@ 274 @ 474 ® 87

@ 107

® 1274



S AL 72 Nz o] Aot
ZYZF {10 cm, V8cm ¢ #HAFE 3}
W2 HE Aot of o, e
StHOl YolE gvbem? o B2
vl (2 b & AE Q5

7} gl )

ge om?




3. Vs @:nma o, n o] Zhe Tatolat,
c-

Cin=



® V2

2

®
z
©
=
o
= sk
ofF ®
i
M
iz -
o _VTA
S o



5. o= A& s shejet

ANT+3V5-2VT -5

S ER
=






e g uAel mAjele] Zolo
stolat,




o}

D

ohe ok A9t
[ ]8 20 AF2 e 73 ol wrel T Ao 49 2 En
A 59 Mg Fe] Witk o] 48 itk g BA 7

Vo Agae gre [ eIt

il

|

1 2

4

1,2--=--==-----1 1,




9.

the % olulshs Zo] B2 st

10

O 49] Al

@ (-2)% o AlF

® AlEd4

@ AlFste 4 7} == 4

B x2 =4 = Ut=Eslt= y 9] ZF



® —6a B 6a

D 0



O V0.1 < V05
® V0.1 < 0.1
® 7 < A1

@ -v5 > -3
@ V27 > 5



12. o % G457t old £8 BE 1297 (

@ -+0.16 @ 0.3
@ 1.27 B -4

o 271)

® V2-1



O& T &2 A2?

Mo

@ 02 AT Be o A2 2 7ol
@ /(=42 o] AFL +2 o},

® V9+ V16 = V9 + 16 o[t}

@ 2v3 = V6 ot

G e ogZolt



BE RS A=W
1I \\ // , \\
\ " |
< vy < V ] |
-9 -1AB O C1 -
@A (—2 + \/§>

® CD=-1+2V2
® BC = 32

@ AB—3-23

@D(l—i-\/ﬁ)



10 T} 3 Ato]of

9ol 4] -

bl

g

® A4t 6 A7t ek,

@ A= 3 717F A



16. tF& % V3 V7 Abold

O V3+2
@ 4

(o) R = | P

@ 242
® \7-3




17.

& % 374 Apolo] Qi Sk BE 9 AR (2, AFEE

V3 = 1.732 o]t}.)

(1]
H7

ol A

Vi /2B VB VI 34E 2VE 1, VD

@ 87 @ 774 B 671 @ 570 ® 47



18. t& T Alito] &7 &2 A2?

® (V) +(-vD) =17 @ (-v2)' - (-v5)" =3
@(ﬁ)z ( ;) N N e



19. /10 A} 4957} 5 s A5 a £ BT R AR

@D 170 @ 2 7 ® 370 @ 4 7 ® 5 M



20.

? 25 3 32 @ 36 3 38

@D 16



21. o3 Al Fa, b, ¢ & A HIWE Shofe)

a=2V3-1,b=3V2-1,c=9-3V3




sholat.

_;L



@ V371-1<6

© V2+4<V3+14

® -v/(-3)+2>-v10-1
1 1

@ §<$

@ 4-V2>2+ V2

@ 17 @ 270 3 30 @ 47}

® 571




°9

a+bol

g

Hrt. o] W, A= a, b

? 6 3) 8 @ 11 B 16

@D 5



® 15V3



